ROCK HILL SCHOOLS

FY 2025-2026 SUPPLEMENTS

High School Athletic Supplements

Note: School Cost is the funding allotted for the job title. The funding may be split between more than one person and amount allotted based on duties.

Position	Funded Positions	School Cost	Schools	District Cost
FOOTBALL				
Head Coach	1	15,000	3	45,000
Varsity Asst	Allotted Per School	67,614	3	202,842
JV Asst	Allotted Per School	28,113	3	84,339
9th Gr Asst	Allotted Per School	28,113	3	84,339
FLAG FOOTBALL				
Head Coach	1	4,120	3	12,360
Assistants	Allotted Per School	1,987	3	5,961
				•
ASST AD	1	6,623	3	19,869
GIRLS BASKETBALL				
Head Coach	1	8,568	3	25,704
Varsity Asst	Allotted Per School	5,681	3	17,043
JV Head Coach	1	3,331	3	9,993
JV Asst	Allotted Per School	1,229	3	3,687
9th Gr Head Coach	1	3,041	3	9,123
9th Gr Asst	Allotted Per School	1,107	3	3,321
BOYS BASKETBALL				
Head Coach	1	8,568	3	25,704
Varsity Asst	Allotted Per School	5,681	3	17,043
JV Head Coach	1	3,331	3	9,993
JV Asst	Allotted Per School	1,229	3	3,687
9th Gr Head Coach	1	3,041	3	9,123
9th Gr Asst	Allotted Per School	1,107	3	3,321
GIRLS WRESTLING				
Head Coach	1	8,568	3	25,704
Varsity Asst	Allotted Per School	5,018	3	15,054

BOYS WRESTLING				
Head Coach	1	8,568	3	25,704
Varsity Asst	Allotted Per School	5,018	3	15,054
JV Head Coach	1	2,550	3	7,650
BASEBALL				
Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	1,987	3	5,961
JV	1	1,641	3	4,923
C Team Head Coach	1	1,475	3	4,425
C Team Asst	Allotted Per School	1,092	3	3,276
SOFTBALL				
Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	1,987	3	5,961
JV	1	1,641	3	4,923
GIRLS TRACK				
Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	1,987	3	5,961
JV	1	1,641	3	4,923
BOYS TRACK				
Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	1,987	3	5,961
JV	1	1,641	3	4,923
	· ·		•	
GIRLS SOCCER				
Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	1,987	3	5,961
JV	1	1,641	3	4,923
	· ·			
BOYS SOCCER				
Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	1,987	3	5,961
JV	1	1,641	3	4,923
GIRLS VOLLEYBALL				
Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	1,987	3	5,961
JV	1	1,641	3	4,923

9th Gr Coach	1	1,641	3	4,923
		-,		.,
BOYS VOLLEYBALL	T T			
Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	1,987	3	5,961
JV	1	1,641	3	4,923
9th Gr Coach	1	1,641	3	4,923
GIRLS GOLF	T T			Γ
Head Coach	1	3,080	3	9,240
riead Coacii	1	3,000		9,240
BOYS GOLF				
Head Coach	1	3,080	3	9,240
GIRLS TENNIS				
Head Coach	1	3,080	3	9,240
BOYS TENNIS				
Head Coach	1	3,080	3	9,240
GIRLS CROSS COUNT	RY			
Head Coach	1	3,080	3	9,240
Cross Country Asst	Allotted Per School	1,092	3	3,276
	<u></u>			
BOYS CROSS COUNTE	_			
Head Coach	1	3,080	3	9,240
Cross Country Asst	Allotted Per School	1,092	3	3,276
WEIGHT TRAINING	T			
Head Coach	1	14,000	3	42,000
ATHLETIC TRAINING				Г
Head Coach	1	13,247	3	39,741
Asst	Allotted Per School	5,019	3	15,057
CHEER				
Varsity Head Coach	1	4,120	3	12,360
Varsity Asst	Allotted Per School	2,058	3	6,174
JV	1	2,058	3	6,174
9th Gr Coach	1	2,058	3	6,174
GIRLS SWIM				

Head Coach	1	3,080	3	9,240
Asst	Allotted Per School	1,092	3	3,276
BOYS SWIM				
Head Coach	1	3,080	3	9,240
Asst	Allotted Per School	1,092	3	3,276
TOTAL		366,607		1,099,821

